FgArea: [0 ]
NC11 P3-12
2025-06-09 (Day 68)







VN

2000
1500 ~
1000 ~

500 -

70

60

50

40

30

20

10






o 1 VI vs Du

o)
2500 -
® o
o0
2000 - o
°
°0
® 000
1500 o o
o o
®
oo °
1 -
000 ° :
& o
500 - od
v
&0
0 -
T T T T T
0 1000 2000 3000 4000 5000

DU




wf\w

0.6 A
0
0.
0
0.2 A

70

60

50

40

30

20

10



70

60

30

1 setVI

75 -
25 -

——
90 1 .l‘iL

175 4
150
125 A
100



1 (fgArea = NA)

—0— ECI*10%
—0— ECO
7000
6000
5000

4000 T[
3000

2000 +—

20

30

40

50

60

70



—@— PHI*10%

7.5 4 ~®— PHO

7.0 1
6.5 1
6.0
5.9

70

60

50

40

30

20

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g-0’]]
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Trend plot forP3-12_0
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P3-12

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS ERE

07:40 283 150.0 2. 888 RS FiHRe07:40 REIEF (KREERE)
08:15 283 150.0 2.888 fI|  FHA@08:15 KRENFEFF (KRAIERER)
08:50 283 150.0 2. 888 M| FiHAe08:50 KENFEF (FAFEESE)
09:25 283 150.0 2. 888 M| Fi#Ae09:25 KREIZF (REAERHE)
10:05 283 150.0 2.888 1|  FiHRe10:05 REIEF (KFEAEHE)
10:40 283 150.0 2. 888 M| FiHRe10:40 KEEF (GRAFERSE)
11:15 283 150.0 2. 888 M| FiHRe11:15 KEIEF (RAFRSE)
11:50 283 150.0 2.888 | FiHfe11:50 REEF (RAERR)
12:20 283 150.0 2.888 B ThHR@12:20 KENFEF (RA{ERENEE)
12:50 283 150.0 2. 888 RS ThHAe12:50 KENFEF (KAHEEE)
13:20 283 150.0 2. 888 FA| FiHR@13:20 AHIEF (KAEZRKS)
13:55 283 150.0 2. 888 FA| FHA@13:55 KEFEF (KRR
14:30 283 150.0 2.888 FA| TiHA@14:30 KRHEF CRAKZHS)
15:05 283 150.0 2.888 fl|  FHRe15:05 REAIZEF (REAEZRER)
15:45 283 150.0 2.888 f|  FiHEfe15:45 REFZEF (KFAERE)
16:30 283 150.0 2. 888 M| FiHAe16:30 KEIEF (KAEES)
17:30 283 150.0 2.888 BE| FHA@17:30 KENFEF (RAFERSE)
2it]4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 5.9

FEIKECE (1897.0 vs 4260.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-12_0, Day=68 (2025-06-09)
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P3-12

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

07:15 283 150.0 2. 888 s {Ri&e07:15 Bz (REERSE)
07:45 283 150.0 2.888 5| {BRige07:45 B3 (RPERKSE)
08:15 283 150.0 2.888 BE| {Ri&e08:15 Bz (REAEHE)
08:55 283 150.0 2. 888 RS {Ri&e08:55 Bz (REAERESE)
09:35 283 150.0 2.888 RS 1Ri&e09:35 Bah (REEESE)
10:10 283 150.0 2.888 S| Ri%@10:10 Bz (REEESE)
10:45 283 150.0 2. 888 e Ri8e10:45 Bz (REAERSE)
11:20 283 150.0 2.888 Bl Rige11:20 Bal (REEESE)
11:50 283 150.0 2.888 el Rige11:50 Bz (REAERSE)
12:25 283 150.0 2. 888 e Rige12:25 Bz (REAERSE)
12:55 283 150.0 2. 888 el Rige12:55 Bal (REEESE)
13:25 283 150.0 2.888 el Rige13:25 Bal (REAEHSE)
13:55 283 150.0 2.888 BS| 1Ri%e13:55 Bz (GREMEESE)
14:30 283 150.0 2.888 S| Ri%e14:30 B3 (REERSR)
15:00 283 150.0 2.888 BE| Rige15:00 Ba) (REAEHSE)
15:30 283 150.0 2.888 BS| 1Ri%e15:30 B3 (GREMEESE)
16:00 283 150.0 2. 888 e Ri&e16:00 Bz (REAEHSE)
16:40 283 150. 0 2.888 | {BRig016:40 B3 (GRPMERKSE)
24it]5094.0 (18%%) 2700. 0 3ESHKEC: 2080.0, PH: 5.8

FEREHEME STEAEARS (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (329:106.0), set to 329 ml.
BEEIRECE (1927. 0 vs 3940.0) 5T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=67 (2025-06-08)
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46 -

45 -

44 -

—— MW

T
840

T T
845 850

m=970,m FV0=0

47 -
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—— MW

T
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T
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m=870, FV0=0
—— MW
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46
45
44_ T T T
870 875 880
m=1005n FVO=0
—— MW
47
46
45
T T T
1005 1010 1015

m=900, FV0=0
—— MW
48
47
46
45
44 4
T T T
900 905 910

m=935, FV0=0
491 —— MW
48 -
47 4
46 1
45 4
T T T
935 940 945
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P3-12

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

07:10 283 150.0 2. 888 s {Ri&e07:10 Bz (REERSE)
07:45 283 150.0 2.888 5| {BRige07:45 B3 (RPERKSE)
08:20 283 150.0 2.888 RS {Ri%e08:20 B (RFEAERHEE)
09:00 283 150.0 2. 888 RS {Ri%@09:00 Bz (REERSE)
09:45 283 150.0 2.888 RS {Rige09:45 Bl (REAEESE)
10:20 283 150.0 2.888 S| Ri%@10:20 Bz (REEESE)
10:55 283 150.0 2. 888 e {Ri&@10:55 Bz (REAERSE)
11:30 283 150.0 2.888 Bl Rige11:30 Ba) (REAEESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:40 283 150.0 2. 888 el Rige12:40 Bz (REAERSE)
13:10 283 150.0 2. 888 Bl Rige13:10 Ba) (REAEESE)
13:40 283 150.0 2.888 S| Rige13:40 Bal (REAEHE)
14:15 283 150.0 2.888 BS| 1Rige14:15 Bz CGREEESE)
14:45 283 150.0 2.888 S| Ri%e14:45 Bz (REERSR)
15:20 283 150.0 2.888 B Rige15:20 Bz (REAERSE)
15:55 283 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:40 283 150.0 2. 888 e Rige16:40 Bz (REAERSE)
17:35 283 150. 0 2.888 5| {Rige17:35 B3h (RPERKSE)
24it]5094.0 (18%%) 2700. 0 3ESHKEC: 2080.0, PH: 5.9

FEREHEME STEAEARS (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (316:99.0), set to 316 ml.
BE[E]RECE (1877.0 vs 3697.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=66 (2025-06—07)

R e e et .
VI, VB3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 A

50

(¢
200 -

150 fpmmmmmmmm e

100 A

50 T g,

2300 116

Warning: lcol [FVI',| "FVO’'] missing

550 | 3000

052
- 2000

60 - 1000

=

- 30

- 28 =

- 26

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0,

Warning: lcol ['ECB’,| 'ECC’'] missing

setECB=2080. 0

0.0

optPHO0=6. 5,

Warning: lcol ['PHB’,| 'PHC’'] missing

setPHB=5. 9
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300 -

200 -
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m=965, FV0=0 m=1005, FVO0=0
—o— ME
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m=895, FV0=0
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P3-12

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

06:30 283 150.0 2. 888 BE| {RRi%006:30 Bz (REEHSE)
07:05 283 150.0 2.888 RS {Ri%@07:05 Bz (REERER)
08:00 283 150.0 2.888 RS {Ri%e08:00 B (REAERHE)
08:40 283 150.0 2. 888 RS {RRi%e08:40 Bz (REEREE)
09:20 283 150.0 2.888 RS {Ri%@09:20 Bz (REERER)
10:00 283 150.0 2.888 el Ri%@10:00 Bal (REAEHE)
10:35 283 150.0 2.888 RS {Ri%@10:35 Bz (REAERE)
11:05 283 150.0 2.888 S| Ri%e11:05 Bz (REERRSR)
11:40 283 150.0 2.888 B Rige11:40 Bz (REAERSE)
12:10 283 150.0 2.888 Bl Rige12:10 Bz (REAERE)
12:45 283 150.0 2. 888 B Rige12:45 Bz (REERSE)
13:15 283 150.0 2.888 B Rige13:15 Bzt (REERSE)
13:45 283 150.0 2.888 BE| Rige13:45 BHa (REAEHE)
14:20 283 150.0 2. 888 B Rige14:20 Bz (REAERSE)
14:50 283 150.0 2.888 S| 1Rige14:50 Bah (REERESE)
15:20 283 150.0 2.888 BE| Rige15:20 Ba (REAERE)
15:50 283 150.0 2. 888 BE| Rige15:50 Bz (REAERSE)
16:30 283 150.0 2.888 S| Ri%e16:30 Bzl (REERES)
17:25 283 150.0 2.888 RSl Rige17:25 Ba (REAEHSE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 5.8

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

FERECE (1820. 0 vs 3408.0) 145

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

P3-12_0, Day=65 (2025-06-06)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

1 e e e g g S B g
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3322
709 F 3000 ~
100 - 2208 2300 382
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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Warning: col ['M_E'] missing
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P3-12

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

06:20 283 150.0 2. 888 RS {Ri%e06:20 Bzl (REAEREE)
07:45 283 150.0 2.888 A5 {Ri%e07:45 Bz (REERSR)
08:30 283 150.0 2.888 [Z=| 1Ri%e08:30 Bzh (FEEEEE)
09:20 283 150.0 2.888 FE| 1BRi%@09:20 B (kAERSE)
10:00 283 150.0 2.888 FA| 1Bi%@10:00 Bah (RAEREE)
10:40 283 150.0 2.888 FH| 1BRi%@10:40 B3h (KkABERSE)
11:25 283 150.0 2. 888 FA| {Ri&e11:25 Bz (GGRAERE)
12:15 283 150.0 2. 888 FA| (Ri&e12:15 Bz (RAEEE)
13:05 283 150.0 2.888 |Z=| {Ri&e13:05 Bz (KEAEHSE)
13:45 283 150.0 2.888 |Z=| {Ri%e13:45 Bz (REAEHE)
14:25 283 150.0 2.888 |Z=| {Rige14:25 Bz (REAEBE)
15:35 283 150.0 2.888 |Z=| {Ri&e15:35 Bz (REAEHSE)
16:45 283 150.0 2.888 |Z=| {Ri%e16:45 Bz (REEHE)
249t 3679.0 (13%) 1950. 0 ZHKEC: 2080.0, PH: 5.9

FEREHEME STEAERST (184.0 : 147.0), AIEEAT—@E XAHE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (271:69.0), set to 271 ml.
BE[ERECE (1773.0 vs 3375.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=64 (2025-06-05)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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